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1.Discuss the salient features of the Harappan architecture. (Answer in 150 words) — 10

TS WU Hal o G RT3 &1 T Biford | (STR 150 Ysal H Gifod) = 10

2.Examine the main aspects of Akbar's religious syncretism. (Answerin 150 words) — 10

3fHeR & T TH-ag & T Ugqalt &I FHtel HIfoTE | (@TR 150 Ysai H 2IfSY) - 10

3.The sculptors filled the Chandella artform with resilient vigor and breadth of life:
Elucidate. (Answer in 150 words) — 10

RIUPRY 3 Id Hol U BT VIR Wfed 3R R T WR fear : wy Fifeiw] (@R 150
eal ¥ dIfSw) - 10

4.How are climate change and sea-level rise affecting the very existence of many island
nations? Discuss with examples. (Answer in 150 words) — 10

ATy UREd T 9% ¥R B gia Y 3H iU AP & KT TR Y YHIT US I3 87
IR0l Hfed fdaaT SIS | (STR 150 Wsal H EIfSTT) - 10

5.What are non-farm primary activities? How are these activities related to
physiographic features in India? Discuss with suitable examples. (Answer in 150 words) —
10

R-FN rufires nfafaferr wm g2 3 fafafial YRa & Hiifae faRivarsit @ &9 Jaftid |7
SUgad 3aTeRUI Hied fadeT Hifo | (STR 150 sl H Sifod) — 10




6.Explain briefly the ecological and economic benefits of solar energy generation in
India with suitable examples. (Answer in 150 words) — 10

YR & IR Sl It & URFRufaeH iR oifdfes el o1 Siferna e sifo | Sugad
ISR Afgd | (IR 150 Tsal H I - 10

7.What are Tsunamis? How and where are they formed? What are their consequences?
Explain with examples. (Answer in 150 words) — 10

AT T 87 T8 B SR FHEl I BIdl 87 b TRV HT 52 IS0 Wigd WY S|
(SR 150 Mgl H GIfoTg) — 10

8.How does smart city in India, address the issues of urban poverty and distributive
justice? (Answer in 150 words) — 10

YR T W1E IR, U TRIs 3R fAdRumeTd = & G| drhd Yaldd Hdl 82 (ST
150 sgl H GIfSTQ) - 10

9.The ethos of civil service in India stand for the combination of professionalism with
nationalistic consciousness — Elucidate. (Answer in 150 words) — 10

YR H Rifad Ja1 o1 Afrada U=aRar SR AT AT & G & o BS1 & - WY
I (ST 150 Wsal HEMT) - 10

10.Do you think that globalization results in only an aggressive consumer culture?
Justify your answer. (Answer in 150 words) — 10

HT 3MUB] T & T IfHI0T BT URUMH Had HTHHE ITHIGI TP 82 30+ IR BT
3 g P | ([STR 150 Wedl | EIvIE) — 10

11.Mahatma Jotirao Phule’s writings and efforts of social reforms included issues of
almost all subaltern classes. Discuss. (Answer in 250 words) — 15

HETHT SIRTA ol & TRa T Ao JoR & Tar § et I+t Suférd vl ot
oSl 1 wHTied fobar a1 Tl fada=1 iU (SR 250 sal H GMI) - 15




12.Trace India’s consolidation process during early phase of independence in terms of
polity, economy, education and international relations. (Answer in 250 words) — 15

HRd & WaAdl b YRS TR0 H HRd B GHD o1 UlhaT BT Jei-ita, Siefouar, fram
3R SfTRIPTT Haiel & ey 7 SfgRiieH P (TR 250 Wsal H Q) - 15

13.The French Revolution has enduring relevance to the contemporary world: Explain.
(Answer in 250 words) — 15

ThIRI shifd ot THamaRIe 9y & ufd urifiedr omel +f FRaR URiffie §1 WY B |
(SR 250 gl H S — 15

14.Give a geographical explanation of the distribution of off-shore oil resources of the
world. How are they different from the on-shore occurrences of oil reserves? (Answer in
250 words) — 15

3% & Suacty da IqTe=T & fIaR0T BT s TWHIHRUI BT | A dd HeRI Bt ddig
el 9§ fhg UeR e 87 (IR 250 Ysa) A IT) - 15

15.How can Artificial Intelligence (Al) and.drones be effectively used along with GIS and

RS techniques in locational-and areal planning? (Answer in 250 words) — 15

RIS TUT &1 Ao a9 § HHE FfGH (@.eM%,) 3R S, HIMiid =1 Jomet
(13113, TY.) Td R AT Theiteh (SMR.TH.) & 1Y [y YR gHTdl & 1 ygad o o
Thd 82 (3T 250 Yeal | aIforg) — 15

16.Discuss how the changes in shape and sizes of continents and ocean basins of the
planet take place due to tectonic movements of the crustal masses. (Answer in 250
words).— 15

<] Pl fob gealt & HeTgIUl Ud HENR] & 3PR 3R HR ({19) H gRad=
RSy Wel B Tl Tfd & BRI BT B &1 (IR 250 Tsal & Q) — 15

17.Discuss the distribution and density of population in the Ganga River Basin with
special reference to land, soil and water resources. (Answer in 250 words) — 15



T & SR A S & faaRU1 Ud g ST yfH, el Td S gyl & oy g §
Tl PITE| (IR 250 Veq! H HfIY) - 15

18.How do you account for the growing fast food industries given that there are
increased health concerns in modern society? lllustrate your answer with the Indian
experience. (Answer in 250 words) — 15

MY AT & Feat g5 ey gah fdret & e ¥ 3@d gU BRe B8 g &t s
T 3T HY TG-S B2 HRATG SFIHT & 1Y 30 IR DI WF DI (ST 250
Teg] H EifSY) - 15

19.Achieving sustainable growth with emphasis on environmental.protection could
come into conflict with poor people’s needs in a country like India — Comment. (Answer
in 250 words) — 15

TYTaRUT TR0 TR 5 P AU Fdd [IBT UTed b1, HRd ol S/ H TRI AT bt
ATl T ThI JobdT g - feuuft S| (ST 250 Tsa! & SIS - 15

20.Does tribal development indndia centre around two axes, those of displacement and
of rehabilitation? Give your-opinion. (Answer in 250 words) — 15

HT URA T SO [GhRT [T SR gai &1 af YRl IR divsd 82 S0H1 Jd giforg|
(TR 250 sq] Halvg) — 15




